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For items 1 to 10, each stem is followed by four options lettered A to D. Read each item carefully
and circle the letter of the correct or best option.

1. A unit vector has the magnitude of ................

A0
B. 1
C. 5
D. 10

2. The splitting of a vector into two component vectors is called Vector ................ -

oW

sum.

decomposition.
difference.
resolution,

3. Find the vector sum of AC + CL — ML.

A. AC
B. 4L
C. AM
D. ML

4. What is the standard form for the resolution of a vector having magnitude |7| and is inclined at
an angle 9 to the x-axis?

A. |F|(cos 01+ cosB))

B. |Fl(cos01+sin87)

C. |7|(sin®1+cosB7j)

D. |7#|(sin®1+sin 0 7)
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5. IfAB = —2i + 3j + k, then |[AB| is .ccccoooovvvenn
A. V2
B. v6
C. Vi3
D. V14

What happens when a vector is multiplied by a scalar? Its .......c......
A. direction rotates in XY plane by that much angle.
B. direction rotates in YZ plane by that much angle.
C. direction rotates in ZX plane by that much angle.
D. magnitude gets multiplied by that much amount.

7. Vector B has a magnitude of 6 units and it creates an angle of 210° with the positive x-axis. Find
the magnitude of " 4v and direction it makes with the positive x-axis.

Magnitude =24,  direction = 210°

Magnitude = 24,  direction = 300

Magnitude = -24, direction = 30°

Magnitude = -24, direction = 390"

oCaw

8. Vector ¥ starts at the origin and ends at point B in the drawing below. Assuming 2v starts at the
origin, which option could be its endpoint? Circle the correct point on the diagram.

o

W

&4

9. What is the resolved form for a vector which is 5 units long and is inclined at an angle of 45
degrees to the positive x-axis?

A. j—ii+—j§j
B. %H%j
C. %H%j
D. %H%j
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10. If8 = 0°, thenla X b| = ..ccceveren..

A 0
B. 1
C. ab
D. -ab

For items 11 and 12, write the appropriate responses in the spaces provided.

11. If A0 + 0B = BO + 0C, then prove that B is the midpoint of AC. [4 marks]

12. Kwame and Yaro set out from school simultaneously. Kwame goes due north, and Yaro runs on
a bearing of 047°. When Yaro has gone 550m, the boys are 500m apart. How far is Kwame from
the school? [6 marks]
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